<
-
o/
O
z
<
me
@

ELOISE CURVED BED

(SINGLE & DOUBLE)






SAFETY & WARNINGS

e Please read this user guide carefully before using the furniture.
e Please assembly strictly in accordance with the following instructions.

e Only use arag or slightly damp cloth to clean the surface of the furniture, do not
use strong abrasive cleaners.

e Use of mismatched hardware may cause damage to the product, make sure that
all kinds of hardware accessories specifications prior to installation.

e Do not exceed the weight limit of 350 kgs.



COMPONENTS

C (x2) D (x2)

E (x2) F (x1) G (x2) H (x1)



Hardware:

_.
—~
<

=

VAN

ul
—~
x
N
=

9 M8x40 (x30)

-

13 (x11)

2 (x4)

™

6 (x1)

&

10 M8 (x30)

14 (x1)

3 M8x20 (x16)

7 (x1)

11 (x22)

va

15 (x1)

)

4 M8 (x30)

<

8 (x4)

N

12 (x22)

16 (x4)



ASSEMBLY

Step1:
1(x2) 2 (x2) 3 M8x20 (x4)
1
-
-




Step 2:

1(x2)

2 (x2)

3 M8x20 (x4)










Step 5:

)

S

4 M8 (x24)

7 (x1)

9 M8x40 (x24)

10 M8 (x24)

16 (x4)




Step 6:
















Need more information?

We hope that this user guide has given you
the assistance needed for a simple set-up.
For the most up-to-date guide for your product,
as well as any additional assistance you may require,
head online to help.kogan.com.

kOgaN.com



